1. PeunTy jefHa4YHHE:
a) 2* =16
B) 3X+2 =1

n) 4 -16=0
) 2% -5.2"+4=0 0,2

2. PelinTH jeHaYMHe:
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a) 3" = 7
B) 27" = 1 2
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e) 3" =272 +6
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3. PewintH jesHayunHe:
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a) \/8—X= 64
B) 0125427 = (iJ ]
’ J2
1) 5°+3-5% =140
) 3.5 =45
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m) 22X+ 264 2% 1 2% =30

4. PemunTH jeiHa4YMHE:

a) 4°2-9.2¢*248=0

B) 9 +6*—2.4* =0 0]
ﬂ) 2X+4 + 2X+2 — 5X+l + 3 5X

5. PeminTu jegHauuHe:

a) 8 =7"+7
6) 7X+l _ 2x—l — 5 7X + 3 2><+3

2 2 1
B) 5>< -3, 2x -3 — m.(:]_Ox—l)?’

ExcnoHeHyuja/iHe jeOHa4uHe

3adayu:

6) 2% =128
r) 4+16=0

2 8
b) (5] =57
}K) 5X275X76 — 1
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6)9 * =3
3) 125
=== 3
) (5) 27 €
) 4°—10-2*+16 =0
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) (1] —32.42 b
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n) 85 =1 + 2

6) (Silj - 27

r) 44 4 =320

1;)) 2X A 3X+l — 18
22x—1 . 4x+1

n) 5 -5 = 20

K) 22 —22% _15=0
b) 37 + 91 =810

6) 23)(—2 _23X—3 _ 23X—4 — 4

s ek 1
r) 4 -3 2=3 22" |2

1;)) 6X + 6X+l — 2X + 2X+l + 2X+2



r) 2%.3 —2%*1.3%1 = _288
1) 18" +12" =2.8"

B) \/zx.m -4.32

e) 34X+8 _ 4 . 32X+5 + 27 — O

1 1 1

K) 6-9% —13-6% +6-4% =0

2X

3) 323 _gxl 973 _675

) 7+\/E)X+( 7—\@)X =14

[W] [S]]



